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2. How do Mendel's experiments show that 
traits may be dominant or recessive? 

3. How do Mendel's experiments show that 
traits are inherited independently? 

4. Give the pair of contrasting traits of the 
following characters in pea plant and 
mention which is dominant and recessive? 
(a) Yellow seed (b) Round seed 

5. Why did Mendel choose pea plant for his 
experiments? 

6. Mendel crossed a pure tall pea plant (TT) 
with a pure short pea plant (tt) and 
obtained all tall plants in F₁ generation? 
(a) What is the gene combination present 
in the plants of F1 generation? 
(b) Give reason why only tall plants are 
observed in F1 progeny. 
(c) What will be the ratio of the plants 
obtained in the F2 generation when F1 
plants are self pollinated? 

7. A pea plant with blue colour flower 
denoted by BB is cross-breed with a pea 
plant with white flower denoted by ww 
(a) What is the expected colour of the 
flowers in their F1` progeny? 
(b) What will be the percentage of plants 
bearing white flower in F2 generation, 
when the flowers of F₁ plants were self 
cross? 
(c) State the expected ratio of the genotype 
BB and Bw in the F₂ progeny 

8. What is test cross? How does it differ from 
a reciprocal cross? 

9. Explain Mendel's law of segregation. 
10. What is dihybrid cross? Mention an 

example. 
MATHS 

1. If tan 𝜃 =
ଵ

√ହ
 , 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓  

௖௢௦௘௖మఏି ୱୣୡ  మ  ఏ

௖௢௦௘௖  మ ఏାୱୣୡ  మ ఏ
  

2. If cot 𝜃 =
ଵହ

଼
,then evaluate 

(ଶାଶ ୱ୧୬  ఏ)(ଵିୱ୧୬  ఏ)

(ଵାୡ୭ୱ  ఏ)(ଶିଶ ୡ୭ୱ  ఏ)
  

3. Prove that 
i) (cosec A+ cotA)(1-cosA)= sinA 
ii) secA(1-sinA) (secA+tanA) =1  

4. Prove the following 

i) 1+ 
ୡ୭୲  మఈ

ଵା௖௢௦௘௖ ఈ
 = cosec 𝛼 

ii) (sin𝛼+cos𝛼)(tan  𝛼 + cot  𝛼) = 
Sec𝛼 + 𝑐𝑜𝑠𝑒𝑐 𝛼  

5. Prove the following identities: 

i) 
ୱ୧୬  ఏ

ଵାୡ୭ୱ  ఏ
+

ଵାୡ୭ୱ  ఏ

ୱ୧୬  ఏ
 = 2cosec 𝜃 

6. Prove the following 
2(sin6 𝜃+ cos6 𝜃)-3(sin4 𝜃+cos4 𝜃)+1=0  

7. Prove that 
ଵ

ଵା௦௜௡మఏ
+

ଵ

ଵା௖௢௦మఏ
+

ଵ

ଵା௦௘௖మఏ
+

ଵ

ଵା௖௢௦ మఏ
=

2  
8. Find the value of : 

ୱ୧୬  ఏ

ୱୣୡ  ఏା୲ୟ୬  ఏିଵ
+

ୡ୭ୱ  ఏ

௖௢௦௘௖  ఏାୡ୭୲  ఏିଵ
  

9. Prove the following 
sin  𝜃 − cos  𝜃 + 1

sin  𝜃 + cos  𝜃 − 1
=

1

𝑠𝑒𝑐𝜃 − 𝑡𝑎𝑛𝜃
 

10. Prove the following 

ට
ୱୣୡ  ஺ିଵ

ୱୣୡ  ஺ାଵ
+ ට

ୱୣୡ  ஺ାଵ

ୱୣୡ  ஺ିଵ
 = 2 cosec A 

 


